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PROBLEM SET: Limiting Reactants
1) Use the fallowing chemical equation: Q, H; + 0, > glyzo

A} Balance the equation. . . L g

B) Identrfy the Ilmmng reactant th\l22 g)of O, reacts w;llé\ 05 g/&f H 5 to produce water, e
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C) What mass r will be formed in the reactlon'?
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D} What mass of the excess reagent will be left over./ unused?
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2) Use the following chemical equation: Fe + S > FeS

A) Balance the equation. v &/ e
B) Identify the limiting reactant when 4.68 g of Fe reacts with 2.88 g of S to produce FeS.
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D) What mass of the excess reagent will be left over / unused?
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3) Use the following chemical equation: Mg(OH), + JHCl & MgC, + &‘lzo

A) Balance the equation. . . £
B) Identify the limiting reactant whe ?' of Mg_{_Qﬁ) reacts wnh Jgﬁgﬂf_HCI 1o form MgCIz
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(84} What mass of magnesmm chloride, MgCl,, will be formed in the reaction?
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D) What mass of the excess reagent will be left over / unused?

Source: Chemistry: Connections to Gur Changing Warid (Prentice-Hall) Ch 11 *Chem Eq'ns* supplemen‘r pp. 19-20



4) Use the following chemical equation: ;z, s$O, + 0, e (Z/SO?,

A) Ba!anfc;e the equation. " - m—w\
_ B) Identify the limiting reactant when 12 4gof S, reac A5Y of O,
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_ Whatmass of sulfur trioxide, 803 wm be formed i (3 the reactg D l 9
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D) What mass of the excess reagent will be ieft over / unused?
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5) Use the following chemical equation: H.0O + $0; > H,S0,
A) Balance the equation. J T
B) Identify the limiting reactant when 6.58 g of SO; rea jctswlgh 164 g of H:0. e Y
(. 8§59 SOz (e S03 | 1t Hed d8al

ZLQ ﬁ@ W 'W303 lvwerw

3’0 zj e mg et Hg&)f 3 |
. L{ ‘

D) What mass of the excess reagent will be left over / unused?

6) Use the following chemical equation: Cd + s > CdS

A) Balance the equation
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C) wnarmas’) of cadmium sulfide, CdS, will be for m th reaction?
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D) What mass of the excess reagent will be left over / unused?
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Source: Chemistry: Conngctions to Our Changing World (Prentice-Hall} Ch 11 “Chem Eq'ns” supplement pp. 15-20




